SERR215EE (20095 F)

—REEHMHEEPHE (F1E) OHE

INEHTH



1 X
(1) mA

(BAZ: T - %)
K il IE BT O A MRk = %R at 304z
1| i 19,745,969  56.4 19,745,969  56.0
2 sE 5 B 212,000 0.6 212,000 0.6
M FORZ A & 253,000 0.7 253,000 0.7
418 %5 # x M & 124,000 0.4 124,000 0.4
5 [BRASERENE P 5 51 22 1+ 4 86,000 0.3 86,000 0.3
6 M 7 18 Bl & & 1,065,000 3.0 1,065,000 3.0
7 |E B A5 B AT T 4 222,000 0.6 222,000 0.6
8 [H 7 K¢ B & AT & 203,000 0.6 203,000 0.6
9 K & A B 15,000 0.0 15,000 0.0
10| A2 80 22 A kF SR e 1| A A+ 4 16,000 0.1 16,000 0.1
1117 #H & k VA #H & 252,967 0.7 252,967 0.7
12168 H B & O F & B 1,057,678 3.0 1,057,678 3.0
13 I S R 2,855,418 8.1 36,425 2,891,843 8.2
14|%8 X i & 4,733,122 13.5 77,622 4,810,744| 13.6
15(fF JiE I A 38,110 0.1 38,110 0.1
16|%F BfF 4 118,648 0.3 118,648 0.3
174 A %o 980,898 2.8 105,500 1,086,398 3.1
18| el %o 200,000 0.6 200,000 0.6
19(7 I A 209,190 0.6 209,190 0.6
20| & 2,649,000 7.6 2,649,000 7.5
= &t 35,037,000| 100.0 219,547 35,256,547| 100.0
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K il IE BT O A MRk B %H at 304z
1 i = # 351,082 1.0 351,082 1.0
2 ¥ % # 4,308,987 12.3 4,117 4,313,104 12.2
3R 4 # 11,977,681  34.2 111,500 12,089,181  34.3
4 | 4 # 3,945,069 11.3 60,355 4,005,424 11.4
5% 18 # 16,412 0.1 53,100 69,512 0.2
62 H K FE X & 35,253 0.1 35,253 0.1
7 |pE T # 184,505 0.5 184,505 0.5
8 |t VN # 6,137,923 17.5 11,727 6,149,650 17.5
9 |14 ] # 1,591,260 4.5 1,591,260 4.5
10|% ) # 3,524,139  10.1 15,401 3,539,540  10.0
11| f& # 2,675,507 7.6 2,675,507 7.6
123 X s 4 146,590 0.4 146,590 0.4
13| 7 i # 142,592 0.4 A 36,653 105,939 0.3
= 7 35,037,000| 100.0 219,547 35,256,547| 100.0

3) mE (EE R
(HAL: T - %)
X ool #OE AT O BH (MERKEL| MR #E 7t (37429
A 7 H 7,719,578  22.0 5,764 7,725,342 21.9
Z’% 7S B # 5,225,770  14.9 23,643 5,249,413|  14.9
o |4 (= e 2,675,507 7.6 2,675,507 7.6
# 71N &t 15,620,855  44.5 29,407 15,650,262  44.4
) (Gx £ 5,809,999 16.6 132,131 5,942,130  16.8
MR oM & % 153,513 0.4 555 154,068 0.4
i B # & 4,153,256|  11.9 12,401 4,165,657 11.8
H AV 4 299,841 0.9 299,841 0.9
BEELXOHES-H4 601 0.0 601 0.0
i i & 3,515,425|  10.0 44,206 3,659,631 10.1
B & M & #H 5,340,918  15.3 37,500 5,378,418  15.3
¥ fifi 7 142,592 0.4 A\ 36,653 105,939 0.3
= 7 35,037,000| 100.0 219,547 35,256,547| 100.0
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13|E S 4| 36,4257 BB AR 4 25 00| *& ETIPIO HTit
ST T BR BE W Rl AR T 2 Al B 4 8,586 HighR1/2
Syt o sk e U fh 2 A 8 <2 2,039 High=1/3
4 = & 77,622 | Ml 7 et g T S i) 4 3,810  #iBhE:10/10
FS B A R VTR B B A B 11,441 HiighR1/2
SO LTE AR 4 7,341 AiiBHE10/10
B R A1) HH = Bl PR R 1 A B 17,777 #iBh=10/10
SROCHT B R F A H DT BT R4 B 4 27,982  HihE10/10
g%g%{g@%@ﬁ%&%%ﬁ@%ﬁ%% 1,962
) b T AR 1500|  amspeE10/10
ARV BB R S TR 1,000|  ##i8h=10/10
17|#k A x| 105,500 | B o i A4 100,000 ST R
FEV LN He i N4 5,500
a & 219,547
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K il 1E %A ¥+ oM E N e
2 | e o 4117 %ﬁ;&?fﬁ?ﬁ?ﬁm%ﬁ#(ﬁﬁﬁm 3.798
3R &5 | 111,500 |Husksr 7 HeERAT S Z 70K 3,810
ITRECRIBRRF I 22 F TR H 4 44,206
ECHIPR B T Bh & 1,200 FB IR B HTOHTRRX
ECHIPR B T e 2 Al ) & 37,500 | 38 FI PR B HTOHTER
g%@%ﬁg?ﬁ@%%%%:gﬁéﬁ 02,882  ByEREEON K
4 |fdr 4 2 60,355 [k Z AU R R R 9,979
AR B IEPRZRERL (FER) 10,231
AR S AL PEZRERE (36 R) 37,800
97 18) # 53,100 | 5B LT A 3
P S A A 2 ek 4,533
igﬁgi}%ﬂiﬁﬁ?ﬁﬁi%ﬁﬁﬁ% 2,808
BRSUE A 336
HiI S T A A R T 4,000
TR RE R A LR 6,195
IR EZLRER 1,534
el L R e 6,048
HROUHR B R A 2
ﬁ%&@*ﬁ%ﬂﬁﬁﬁ%??—ﬂté%ﬁ 17.212
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TN A & FE R A 2 5Tk 1,736
BT R U BT U a2 AL RER) 662
8|+ 7N % 11,727 |k BEEE F e & 2Tk} 11,172
10|# Gl 2 15,401 |FAST £ [ 55k B S 5 2% A 3 4 6,130 Al B Bl oDk K5
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